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Supﬁicmcntihg 1t with a continui;y eQuation'and déSignéting,'as

belore, ' ] Sl
g - U
.Q=RT01n-l—f;-+®, 0= 7 s c’=—é’-RT°,

we reacn a systcu analogous to (7) and, further, we get equation (9) and %

solution (10)..
Aftcr‘zhis in the obtained solution it 1s necessary to return to the

schc“ical coordinate syetem using formulas (23), and for velocities

entering in F; (and derivatives of F ), using solution (10), formula (24) .
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In formula (10) we should now replace S )S dzdydz by S SS .. ricos@ar drdg.
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on the right side of the integral, Further, we have_
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](:';’(Il'—;c;):"l‘(./x_./x) +(q—zx)’—r’+r7’ 2rr' cosTY,

1= (2 — ) + (11 — y,)* = r*cos® ¢ — 2rr’ cos g cos (A — 2') 4- r" cos’ g, 3
COSY = €0S ¢ cos A cos ¢’ cos A’ + cos @sin A cos @’ sinA’ 4 sin@sing’, -
Let us now separate from the third integral that integral with re- ;
spect to r. rfor brevity let us examine, e.g., only the integral'M (the ;
others are analogous): - ,
M = 8@ -7 (25p2) 2 ar, s
j 0 WL
We find that M has the_form (a 1s the eerth's radius):
V=hverse a4 ) v e e i =
¢ c .0 ° :
= (S S) () o (72, 2, rr')dr'.
Further,. setting r' = a/p" in “the integral from a to 0 ve get e g“
P ¢ 2r\ a%dr” Y ) ' e s
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uEt us requive that when r = a, 3Q/3r = 0. "For this it suffices.to‘ i
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